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2014 ~ 3 J3 29 s _t.q:. 9:00 -- 11:00 

"mt~rm*m , ~~11•~~~ , ;m~.-f&~lla<J:!7\75t~rruH7t5t~ o , 

1. (20%) 1£~9='~ N ~51-J3U*'-~~~ 1, 2, · · · , N a<J~AA!' 4-Jf.Jii~H.ifffi~:!J¥!' ~~1.:£~9=' 

fffillin®~B,~9='n~Nofffi~:!J¥!~T: 

:!J¥!- : ~?X~ffi-~~AA! ' ~c.~~~~~1& , ~@1~9=' , ~1&¥Jfffi""F -* , ~u!ltiUI , f&J¥miU 

~9=' 2 ~ j ~no 

F"'~~~= : li 1 ~a~ N' ~~itW:!J¥!-;&:/Jrt=mf1!3 P(Yj =a)= ~ ' ~9=' 1 ~ j ~no 

2. (25%) ~Q~;@':Ii ' ~-f!MrlYWft ' OA = OB = OC = 1, LCBA, LACE i?J~iJtee ' ]fz.£1. 

miJE 

(1) LBOC = 45° ; 

(2) LAOB = 30° ; 

(3) Sfl-W ABO ~Sfl-W CBO JiJT~a<JSfl-W113 (~mfijW113 , =oo113)~ 60° , 

:si<!ltlmWtla<JIIfJ o (~1.;llirr~J®f~, ~fllJ~711:17t) 

B 

3. (25%) ~ {an}~=l ~-f!m·~~~ljJ:lmJjJE a1 = 5, a2 = 19 ;&JI:i®~m~tC an= 5an-1- 6an-2 

(n ~ 3) o :si<-Jl&J]{ an a<Jiite o (1ffl*#mmaA:si<~J®f~) 
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4. (30%) ~0=*$1Ji:A; f(x) llJL;!.:frfD¥l9 (x- a)kg(x)' ;ltt:j:t a l9m'lt, k ~ 2, g(x) jik~fi$Jj[ 

:r\;~_§. g(a) =/; 0 ' ~ljffl} Q jik j(x) Bf.J~1!m k m:t& 0 ""f)(t:j:t ' J'(x) 1-1(~ j(x) f.J X Eif.Jfll:fr(~ 

2J~ft) ' ~~@l~""f~IJFP~m : 

(1) ~0* Q jik f(x) Bf.J~1~m k mmH k ~ 2 ' ~IJ X- Q jik f(x) fO J'(x) 8f.J0129:A: ' ~itruEZ. 0 

(2) @~ f(x) jik~1~m§rJit~ltl9 1 Bf.J~1~fJJlY?X$rJ[:A; ' ~~:fr,guru£SJ3""f~V*~~ o 

(a) ~0* a jik f(x) Bf.J 4 m:t& ' ~IJ a l9~1{ o 

(b) ~0* Q jik f(x) Bf.J 3 mt& ' ~IJ Q l9~1{ 0 
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m-=~R*~~~= 

2014 ~ 3 ~ 29 S Tlf 2:00'"'"' 4:00 

"~~lm::k~ ' ~1/11:1:~~ ' JM1jtffft(~~S"JM*rJC.f.lft7$17t7tf1: 0
" 

1. (25%) ~ a1, a2, ... , an ~lEJf~ o ~ruE a1+···+an 2: y'a1a2···an' rffl_§_~~.ff 
n 

· a1 = a2 = · · · = an ~:;;t PX.il. o (~7F : PI !;1, '1'~:7'Cm~ "If n = 2m ~S"Jtff%" o ) 

. ~ 

2. (25%) 'Wi~.ff x-z 3f!IiL.t1f -[t]:l: V =(a, 0, c), a> 0 ' 
_. 

tE y-z 3fTiiL.t1f -[t];l: W = (0, ,8, r), ,8 > 0 ' 

~ _. 
(1) >}( V X W 0 

(2) ~ (0,0,0), (a,O,c), (O,,B,r) -~~fo.JTPX..S"l-¥"-00~ P' slft~-¥"-00 P W x-z -¥"-0013"1~1§~ 

A ' -¥"-00 P W y-z -¥"-0013"1~1§~ B o >J<m A+ B >goo o 

30 (20%) ~~~ 25 *i~If4(bt 75 ~JH\'-f4(13.4i*i~3l<t9Jt:!W!&Z.t.l1!-~ o 4-:1:*11tf~~:tm£&-~3]( 

W~~~~tt~-~-~,·~~T~~~o 

(1) ~X f~;&~I~3l<tr1J\ti:lffl.fo)f?ffl:!W!&a"J?Xf1:' W~f£~§?'tlc k, m' ~m~ P(X > 

m + k -1J X> m -1) = P(X > k) o 

(2) ~ Y f~;&f.U:~ti:lffl.m- r 1Jz?Jffi:IWJ&S"Jtjzf1: ' ~~ r ~ § ?:~lc ' >}( P(Y = y) S"lt.l$ 

m'~~y~::k~~~~rS"l§ftlco 

~ 2~ 0 0 2~ 
_ 40 (30%) ~ z =cos 

17 
+~sm 

17 
o 

(1) m~ z, z2
, • · o , z16 ~nfJtr.\; x16 + x15 + o o • + x2 +X+ 1 = Q S"JfJT1f:m 0 

(2) ~m!;I_ T~f~a~~.g-m~ : 

{ 
3 32 33 314 315 

z, z ' z ' z ' ... ' z ' z } 

34 38 312 
W1 = Z + Z + Z +z 

(4) ~ 0 

, m~ 
~ W2 = z3 + z35 + z39 + Z313 

{W1 1 W3 ~:1Jfj;c\; X
2

- U1X- 1 = Q z~m 0 

W3 = z
32 + z36 + z310 + z314 

W2, W4 ~:1Jfj;c\; X
2

- U2X- 1 = Q z~m 0 

33 37 311 315 
w4 = z +z +z + z 

(5) m~ 2 COS 
2~7 ~:1Jf_¥;c\; X

2
- W1X + W2 = 0 Z -f~ 0 ~lltPJ"~tf:l COS 

2~ S"Jfi 0 

1 17 
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